

APPROXIMATION OF GENERALIZED SZÁSZ-MIRAKJAN OPERATORS DEPENDING ON CERTAIN PARAMETERS

M. QASIM ⁽¹⁾, M. MURSALEEN ⁽²⁾, A. KHAN ⁽³⁾ AND Z. ABBAS ⁽⁴⁾

ABSTRACT. Motivated by certain generalizations, in this paper we consider a new analogue of generalized Szász-Mirakjan operators whose construction depends on τ , with extra parameters μ and λ . Depending on the selection of μ and λ , these operators are more flexible than the generalized Szász-Mirakjan operators. We investigate approximation properties. Also, we study local and global approximation, Voronovskaya type theorem. Finally, quantitative estimates for the local approximation are discussed.

1. INTRODUCTION

The well-known Weierstrass Approximation Theorem, proved by Karl Weierstrass in 1885, states that for any continuous function g defined in interval $[a, b]$ and $\epsilon > 0$, there exists a polynomial P such that $|g(y) - P(y)| < \epsilon$. Since the proof of the theorem is lengthy and complicated, many researchers studied to find simple and effective proof. In 1912, S.N. Bernstein [4] proposed the famous polynomial, which is constructed by probabilistic method to give the simple, short and most elegant proof of Weierstrass theorem [22] as follows:

$$(1.1) \quad \mathcal{B}_m(g; y) = \sum_{j=0}^m b_{m,j}(y) g\left(\frac{j}{m}\right),$$

where $y \in [0, 1]$, $m = 1, 2, 3, \dots$, and the basis of Bernstein functions $b_{m,j}$ are defined as follows:

2010 *Mathematics Subject Classification.* 41A10, 41A25, 41A36.

Key words and phrases. Positive Operators, Voronovskaya type theorem, Weighted modulus of continuity, Local approximation.

Copyright © Deanship of Research and Graduate Studies, Yarmouk University, Irbid, Jordan.

Received: Aug. 27, 2020

Accepted: Jan. 7, 2021 .

$$(1.2) \quad b_{m,j}(y) = \binom{m}{j} y^j (1-y)^{m-j}.$$

In order to obtain more flexibility, Stancu [20] applied another technique for choosing nodes. He observed that the distance between two successive nodes and between 0 and first node and similarly between last and 1 goes to zero when $m \rightarrow \infty$. After these observation Stancu introduced the following positive linear operators

$$(1.3) \quad S_m^{\mu,\lambda}(g; y) = \sum_{k=0}^m \binom{m}{k} y^k (1-y)^{m-k} f\left(\frac{k+\mu}{m+\lambda}\right)$$

converge to continuous function $g(y)$ uniformly in $[0,1]$ for each real μ, λ such that $0 \leq \mu \leq \lambda$. For various generalization of stancu type operators one can see [3, 10, 12, 13, 14, 15, 16, 17, 18, 19].

To presents a better degree of approximation, a new generalization of Bernstein type operators was given by Cárdenas et al. [5] which depends on τ .

For $m \geq 1$, $y \geq 0$, and suitable functions g defined on $[0, \infty)$. A similar modification of Szász-Mirakyan type operators was introduced by Aral et al. [2] which depends on τ as follows:

$$(1.4) \quad \mathcal{S}_m^\tau(g; y) = e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (g \circ \tau^{-1})\left(\frac{j}{m}\right).$$

Where, τ having following properties

(τ_1) τ be a continuously differentiable function on $[0, \infty)$,

(τ_2) $\tau(0) = 0$ and $\inf_{y \in [0, \infty)} \tau'(y) \geq 1$.

If we put $\tau(y) = y$ then (1.4) reduces to the Szász-Mirakyan operators defined in [21] as

$$(1.5) \quad \mathcal{S}_m(g; y) = e^{-my} \sum_{j=0}^{\infty} \frac{(my)^j}{j!} g\left(\frac{j}{m}\right),$$

Motivated by various Stancu type generalizations and by the above mentioned work, we introduce Stancu variant of operators (1.4) which depend on a suitable function τ as follows:

Definition 1.1. For $m \geq 1$, $y \geq 0$, and suitable functions g defined on $[0, \infty)$ with $0 \leq \mu \leq \lambda$. We define Stancu variant of generalized Szász-Mirakjan operators as

$$(1.6) \quad \mathcal{S}_{m,\tau}^{*\mu,\lambda}(g; y) = e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \left(\frac{j + \mu}{m + \lambda} \right), \quad y \geq 0$$

The new constructed operators (1.6) are positive and linear. For $\mu = \lambda = 0$, the operators (1.6) turn out to be generalized Szász-Mirakjan operators defined in (1.4). Next, we prove some Lemma's for (1.6) which play an important role to prove our main results.

Lemma 1.1. For the operators $\mathcal{S}_{m,\tau}^{*\mu,\lambda}$ be given by (1.6), we have

- (i) $\mathcal{S}_{m,\tau}^{*\mu,\lambda}(1; y) = 1$,
- (ii) $\mathcal{S}_{m,\tau}^{*\mu,\lambda}(\tau; y) = \frac{m}{m+\lambda}\tau(y) + \frac{\mu}{m+\lambda}$,
- (iii) $\mathcal{S}_{m,\tau}^{*\mu,\lambda}(\tau^2; y) = \frac{m^2}{(m+\lambda)^2}\tau^2(y) + \frac{m+2\mu m}{(m+\lambda)^2}\tau(y) + \frac{\mu^2}{(m+\lambda)^2}$,
- (iv) $\mathcal{S}_{m,\tau}^{*\mu,\lambda}(\tau^3; y) = \frac{m^3}{(m+\lambda)^3}\tau^3(y) + \frac{3m^2+6\mu m^2}{(m+\lambda)^3}\tau^2(y) + \frac{m+6\mu m+3\mu^2}{(m+\lambda)^3}\tau(y) + \frac{\mu^3}{(m+\lambda)^3}$,
- (v) $\mathcal{S}_{m,\tau}^{*\mu,\lambda}(\tau^4; y) = \frac{m^4}{(m+\lambda)^4}\tau^4(y) + \frac{6m^3+4\mu m^3}{(m+\lambda)^4}\tau^3(y) + \frac{7m^2+6\mu^2 m^2+8\mu m^2}{(m+\lambda)^4}\tau^2(y) + \frac{m+6\mu^2 m+4\mu m+4m^2\mu}{(m+\lambda)^4}\tau(y) + \frac{\mu^4}{(m+\lambda)^4}$.

Proof.

(i)

$$\mathcal{S}_{m,\tau}^{*\mu,\lambda}(1; y) = e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) = 1$$

(ii)

$$\begin{aligned} \mathcal{S}_{m,\tau}^{*\mu,\lambda}(\tau; y) &= e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \left(\frac{j + \mu}{m + \lambda} \right) \\ &= e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \left(\frac{j}{m + \lambda} \right) \\ &\quad + e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \left(\frac{\mu}{m + \lambda} \right) \\ &= \frac{m}{m + \lambda}\tau(y) + \frac{\mu}{m + \lambda}. \end{aligned}$$

(iii)

$$\begin{aligned}
\mathcal{S}_{m,\tau}^{*\mu,\lambda}(\tau^2; y) &= e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \left(\frac{j+\mu}{m+\lambda} \right)^2 \\
&= e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \left(\frac{j}{m+\lambda} \right)^2 \\
&\quad + e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \left(\frac{\mu}{m+\lambda} \right)^2 \\
&\quad + e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \frac{2\mu j}{(m+\lambda)^2} \\
&= \frac{m^2}{(m+\lambda)^2} \tau^2(y) + \frac{m+2\mu m}{(m+\lambda)^2} \tau(y) + \frac{\mu^2}{(m+\lambda)^2}.
\end{aligned}$$

(iv)

$$\begin{aligned}
\mathcal{S}_{m,\tau}^{*\mu,\lambda}(\tau^3; y) &= e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \left(\frac{j+\mu}{m+\lambda} \right)^3 \\
&= e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \left(\frac{j}{m+\lambda} \right)^3 \\
&\quad + e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \left(\frac{\mu}{m+\lambda} \right)^3 \\
&\quad + e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \frac{2j^2\mu}{(m+\lambda)^3} \\
&\quad + e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \frac{2\mu^2 j}{(m+\lambda)^3} \\
&= \frac{m^3}{(m+\lambda)^3} \tau^3(y) + \frac{3m^2+6\mu m^2}{(m+\lambda)^3} \tau^2(y) \\
&\quad + \frac{m+6\mu m+3\mu^2}{(m+\lambda)^3} \tau(y) + \frac{\mu^3}{(m+\lambda)^3}.
\end{aligned}$$

(v) Finally,

$$\begin{aligned}
\mathcal{S}_{m,\tau}^{*\mu,\lambda}(\tau^4; y) &= e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \left(\frac{j+\mu}{m+\lambda} \right)^4 \\
&= e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \left(\frac{j}{m+\lambda} \right)^4
\end{aligned}$$

$$\begin{aligned}
 &+ e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \left(\frac{\mu}{m+\lambda}\right)^4 \\
 &+ e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \frac{6j^2\mu^2}{(m+\lambda)^4} \\
 &+ e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \frac{4\mu^2j^3}{(m+\lambda)^4} \\
 &+ e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} (go\tau^{-1}) \frac{4\mu^3j}{(m+\lambda)^4} \\
 &= \frac{m^4}{(m+\lambda)^4} \tau^4(y) + \frac{6m^3+4\mu m^3}{(m+\lambda)^4} \tau^3(y) + \frac{7m^2+6\mu^2m^2+8\mu m^2}{(m+\lambda)^4} \tau^2(y) \\
 &+ \frac{m+6\mu^2m+4\mu m+4m^2\mu}{(m+\lambda)^4} \tau(y) + \frac{\mu^4}{(m+\lambda)^4}.
 \end{aligned}$$

□

Corollary 1.1. *By using the linearity of operators $\mathcal{S}_{m,\tau}^{*\mu,\lambda}$ and by Lemma 1.1, we can acquire the central moments as*

$$\begin{aligned}
 (i) \quad &\mathcal{S}_{m,\tau}^{*\mu,\lambda}(\tau(\xi) - \tau(y); y) = \left(\frac{m}{m+\lambda} - 1\right) \tau(y) + \frac{\mu}{m+\lambda}, \\
 (ii) \quad &\mathcal{S}_{m,\tau}^{*\mu,\lambda}((\tau(\xi) - \tau(y))^2; y) = \left(\frac{m^2}{(m+\lambda)^2} - \frac{2m}{m+\lambda} + 1\right) \tau^2(y) + \left(\frac{m+2\mu m}{(m+\lambda)^2} - \frac{2\mu}{m+\lambda}\right) \tau(y) \\
 &+ \frac{\mu^2}{(m+\lambda)^2}, \\
 (iii) \quad &\mathcal{S}_{m,\tau}^{*\mu,\lambda}((\tau(\xi) - \tau(y))^3; y) = \left(\frac{m^3}{(m+\lambda)^3} - \frac{3m^2}{(m+\lambda)^2} + \frac{3m}{m+\lambda} - 1\right) \tau^3(y) \\
 &+ \left(\frac{3m^2+6\mu m^2}{(m+\lambda)^3} - \frac{6\mu m+3m}{(m+\lambda)^2} + \frac{3\mu}{m+\lambda}\right) \tau^2(y) + \left(\frac{m+6\mu m+3\mu^2}{(m+\lambda)^3} - \frac{3\mu^2}{(m+\lambda)^2}\right) \tau(y) + \frac{\mu^3}{(m+\lambda)^3}, \\
 (iv) \quad &\mathcal{S}_{m,\tau}^{*\mu,\lambda}((\tau(\xi) - \tau(y))^4; y) = \left(\frac{m^4}{(m+\lambda)^4} - \frac{4m^3}{(m+\lambda)^3} + \frac{6m^2}{(m+\lambda)^2} - \frac{4m}{m+\lambda} + 1\right) \tau^4(y) \\
 &+ \left(\frac{6m^3+6\mu^3\mu}{(m+\lambda)^4} - \frac{24m^2\mu+12m^2}{(m+\lambda)^3} + \frac{12m\mu+6m}{(m+\lambda)^2} - \frac{4\mu}{m+\lambda}\right) \tau^3(y) \\
 &+ \left(\frac{7m^2+6m^2\mu^2+8m^2\mu}{(m+\lambda)^4} - \frac{24m\mu m+4m+12\mu^2}{(m+\lambda)^3} + \frac{6\mu^2}{(m+\lambda)^2}\right) \tau^2(y) \\
 &+ \left(\frac{m+6m\mu^2+4m^2\mu+4m\mu}{(m+\lambda)^4} + \frac{\mu^3}{(m+\lambda)^3}\right) \tau(y) + \frac{\mu^4}{(m+\lambda)^4}.
 \end{aligned}$$

2. WEIGHTED APPROXIMATION

In this section, by using weighted space we discuss some convergence properties of new constructed operators $\mathcal{S}_{m,\tau}^{*\mu,\lambda}$.

Let $\Psi(y) = 1 + \tau^2(y)$ be a weight function and $\mathcal{B}_\Psi[0, \infty)$ be the weighted spaces defined as:

$$\mathcal{B}_\Psi[0, \infty) = \{g : [0, \infty) \rightarrow \mathbb{R} \mid |g(y)| \leq \mathcal{M}_g \Psi(y), y \geq 0\},$$

where \mathcal{M}_g is a constant. $\mathcal{B}_\Psi[0, \infty)$ is a normed linear space equipped with the norm

$$\|g\|_\Psi = \sup_{y \in [0, \infty)} \frac{|g(y)|}{\Psi(y)}.$$

Also, the subspaces $\mathcal{C}_\Psi[0, \infty)$, $U_\Psi[0, \infty)$ and $\mathcal{C}_\Psi^*[0, \infty)$ of $\mathcal{B}_\Psi[0, \infty)$ are defined as

$$\begin{aligned} \mathcal{C}_\Psi[0, \infty) &= \{g \in \mathcal{B}_\Psi[0, \infty) : g \text{ is continuous on } [0, \infty)\}, \\ \mathcal{C}_\Psi^*[0, \infty) &= \left\{g \in \mathcal{C}_\Psi[0, \infty) : \lim_{y \rightarrow \infty} \frac{g(y)}{\Psi(y)} = \mathcal{M}_g = \text{Constant}\right\}, \\ U_\Psi[0, \infty) &= \{g \in \mathcal{C}_\Psi[0, \infty) : \frac{g(y)}{\Psi(y)} \text{ is uniformly continuous on } [0, \infty)\}. \end{aligned}$$

It is Obvious that $\mathcal{C}_\Psi^*[0, \infty) \subset U_\Psi[0, \infty) \subset \mathcal{C}_\Psi[0, \infty) \subset \mathcal{B}_\Psi[0, \infty)$.

In [7], the weighted Korovkin type theorems are proved by Gadjiev.

Lemma 2.1. [7] For $m \geq 1$, $\mathcal{Q}_m : \mathcal{B}_\Psi[0, \infty) \rightarrow \mathcal{B}_\Psi[0, \infty)$ if and only if the inequality

$$|\mathcal{Q}_m(\Psi; y)| \leq \mathcal{M}_m \Psi(y), \quad y \geq 0,$$

holds, where $\mathcal{M}_m > 0$ is a constant.

Theorem 2.1. [7] For $m \geq 1$, $\mathcal{Q}_m : \mathcal{B}_\Psi[0, \infty) \rightarrow \mathcal{B}_\Psi[0, \infty)$ and satisfying

$$\lim_{m \rightarrow \infty} \|\mathcal{Q}_m \tau^i - \tau^i\|_\Psi = 0, \quad i = 0, 1, 2.$$

Then for any function $g \in \mathcal{C}_\Psi^*[0, \infty)$ we have

$$\lim_{m \rightarrow \infty} \|\mathcal{Q}_m(g) - g\|_\Psi = 0.$$

Therefore, we can prove the following results.

Theorem 2.2. For each function $g \in \mathcal{C}_\Psi^*[0, \infty)$ with $0 \leq \mu \leq \lambda$. We have

$$\lim_{m \rightarrow \infty} \|\mathcal{S}_{m, \tau}^{*\mu, \lambda}(g) - g\|_\Psi = 0.$$

Proof. It is clear from Lemma 1.1 that

$$\|\mathcal{S}_{m, \tau}^{*\mu, \lambda}(1; y) - 1\|_\Psi = 0.$$

$$\| \mathcal{S}_{m,\tau}^{*\mu,\lambda}(\tau; y) - \tau \|_{\Psi} = \left(\frac{m}{m+\lambda} - 1 \right) \sup_{y \in [0, \infty)} \frac{\tau(y)}{1 + \tau^2(y)} + \frac{\mu}{m+\lambda} \leq \frac{\mu - \lambda}{m+\lambda}.$$

Again by Lemma 1.1 (iii), we have

$$\begin{aligned} \| \mathcal{S}_{m,\tau}^{*\mu,\lambda}(\tau^2; y) - \tau^2 \|_{\Psi} &= \left(\frac{m^2}{(m+\lambda)^2} - 1 \right) \sup_{y \in [0, \infty)} \frac{\tau^2(y)}{1 + \tau^2(y)} \\ &+ \frac{2\mu m + 2m}{(m+\lambda)^2} \sup_{y \in [0, \infty)} \frac{\tau(y)}{1 + \tau^2(y)} + \frac{\mu^2}{(m+\lambda)^2} \\ (2.1) \qquad \qquad \qquad &\leq \frac{\mu^2 - \lambda^2 - 2m\lambda + 2m\mu + m}{(m+\lambda)^2}. \end{aligned}$$

Then from Lemma 1.1 and (2.1) we get $\lim_{m \rightarrow \infty} \| \mathcal{S}_{m,\tau}^{*\mu,\lambda}(\tau^i) - \tau^i \|_{\Psi} = 0$, $i = 0, 1, 2$. \square

3. RATE OF CONVERGENCE

In this section, by using weighted modulus of continuity $\omega_{\tau}(f; \delta)$ we determine the rate of convergence for $\mathcal{S}_{m,\tau}^{*\mu,\lambda}$ which was recently considered by Holhoş [9] as follows:

$$(3.1) \qquad \omega_{\tau}(g; \delta) = \sup_{y, \xi \in [0, \infty), |\tau(\xi) - \tau(y)| \leq \lambda} \frac{|g(\xi) - g(y)|}{\Psi(\xi) + \Psi(y)}, \quad \lambda > 0,$$

where $g \in \mathcal{C}_{\Psi}[0, \infty)$, having following properties:

$$(i) \quad \omega_{\tau}(g; 0) = 0,$$

$$(ii) \quad \omega_{\tau}(g; \lambda) \geq 0, \quad \lambda \geq 0 \text{ for } g \in \mathcal{C}_{\Psi}[0, \infty),$$

$$(ii) \quad \lim_{\lambda \rightarrow 0} \omega_{\tau}(g; \lambda) = 0, \text{ for each } g \in U_{\Psi}[0, \infty).$$

Theorem 3.1. [9] Let $\mathcal{Q}_m : \mathcal{C}_\Psi[0, \infty) \rightarrow \mathcal{B}_\Psi[0, \infty)$ be a sequence of positive linear operators with

$$(3.2) \quad \|\mathcal{Q}_m(\tau^0) - \tau^0\|_{\Psi^0} = a_m,$$

$$(3.3) \quad \|\mathcal{Q}_m(\tau) - \tau\|_{\Psi^{\frac{1}{2}}} = b_m,$$

$$(3.4) \quad \|\mathcal{Q}_m(\tau^2) - \tau^2\|_{\Psi} = c_m,$$

$$(3.5) \quad \|\mathcal{Q}_m(\tau^3) - \tau^3\|_{\Psi^{\frac{3}{2}}} = d_m,$$

where the sequences a_m , b_m , c_m and d_m converge to zero as $m \rightarrow \infty$. Then

$$(3.6) \quad \|\mathcal{Q}_m(g) - g\|_{\Psi^{\frac{3}{2}}} \leq (7 + 4a_m + 2c_m)\omega_\tau(g; \lambda_m) + \|g\|_{\Psi} a_m,$$

for all $g \in \mathcal{C}_\Psi[0, \infty)$, where

$$\lambda_m = 2\sqrt{(a_m + 2b_m + c_m)(1 + a_m)} + a_m + 3b_m + 3c_m + d_m.$$

Theorem 3.2. Let for each $g \in \mathcal{C}_\Psi[0, \infty)$ with $0 \leq \mu \leq \lambda$. Then we have

$$\|\mathcal{S}_{m,\tau}^{*\mu,\lambda}(g) - g\|_{\Psi^{\frac{3}{2}}} \leq \left(7 + \frac{2\mu^2 - 2\lambda^2 - 4m\lambda + 4m\mu + 2m}{(m + \lambda)^2}\right)\omega_\tau(g; \delta_m),$$

where

$$\begin{aligned} \delta_m &= 2\sqrt{\frac{2\mu - 2\lambda}{m + \lambda} + \frac{\mu^2 - \lambda^2 - 2m\lambda + 2m\mu + 2m}{(m + \lambda)^2}} \\ &+ \frac{3\mu - 3\lambda}{m + \lambda} + \frac{3\mu^2 - 3\lambda^2 - 6m\lambda + 6m\mu + 3m}{(m + \lambda)^2} \\ &+ \frac{3m^2 + 6\mu m^2 + m + 6\mu m + 3\mu^2 m + \mu^3 - \lambda^3 - 3m^2\lambda - 3m\lambda^2}{(m + \lambda)^3}. \end{aligned}$$

Proof. If we calculate the sequences (a_m) , (b_m) , (c_m) and (d_m) , then by using Lemma 1.1, clearly we have

$$\|\mathcal{S}_{m,\tau}^{*\mu,\lambda}(\tau^0) - \tau^0\|_{\Psi^0} = 0 = a_m,$$

$$\|\mathcal{S}_{m,\tau}^{*\mu,\lambda}(\tau) - \tau\|_{\Psi^{\frac{1}{2}}} \leq \frac{\mu - \lambda}{m + \lambda} = b_m,$$

and

$$\|\mathcal{S}_{m,\tau}^{*\mu,\lambda}(\tau^2) - \tau^2\|_{\Psi} \leq \frac{\mu^2 - \lambda^2 - 2m\lambda + 2m\mu + m}{(m + \lambda)^2} = c_m.$$

Finally,

$$\begin{aligned} \|\mathcal{S}_{m,\tau}^{*\mu,\lambda}(\tau^3) - \tau^3\|_{\Psi^{\frac{3}{2}}} &\leq \frac{3m^2 + 6\mu m^2 + m + 6\mu m + 3\mu^2 m + \mu^3 - \lambda^3 - 3m^2\lambda - 3m\lambda^2}{(m + \lambda)^3} \\ &= d_m. \end{aligned}$$

Thus the conditions (3.1)-(3.5) are satisfied. Now by Theorem 3.1, the proof is completed. \square

Remark 1. For $\lim_{\lambda \rightarrow 0} \omega_\tau(g; \lambda) = 0$ in Theorem 3.2, we get

$$\lim_{m \rightarrow \infty} \|\mathcal{S}_{m,\tau}^{*\mu,\lambda}(g) - g\|_{\Psi^{\frac{3}{2}}} = 0, \text{ for } g \in U_\Psi[0, \infty).$$

4. VORONOVSKAYA TYPE THEOREM

In this section, we establish Voronovskaya-type result for $\mathcal{S}_{m,\tau}^{*\mu,\lambda}$.

Theorem 4.1. *Let $g \in \mathcal{C}_\Psi[0, \infty)$, $y \in [0, \infty)$ with $0 \leq \mu \leq \lambda$. and suppose that $(go\tau^{-1})'$ and $(go\tau^{-1})''$ exist at $\tau(y)$. If $(go\tau^{-1})''$ is bounded on $[0, \infty)$, then we have*

$$\lim_{m \rightarrow \infty} m \left[\mathcal{S}_{m,\tau}^{*\mu,\lambda}(g; y) - g(y) \right] = \tau(y) (go\tau^{-1})' \mu + \tau(y) (go\tau^{-1})'' \tau(y)$$

Proof. Let $g \in \mathcal{C}_\Psi[0, \infty)$ and $\tau(y) \in [0, \infty)$. By Taylor expansion of $(go\tau^{-1})$ we may write

$$\begin{aligned} (4.1) \quad g(\xi) = (go\tau^{-1})(\tau(\xi)) &= (go\tau^{-1})(\tau(y)) + (go\tau^{-1})'(\tau(y))(\tau(\xi) - \tau(y)) \\ &+ \frac{(go\tau^{-1})''(\tau(y))(\tau(\xi) - \tau(y))^2}{2} + \lambda_y(\xi) (\tau(\xi) - \tau(y))^2, \end{aligned}$$

where

$$(4.2) \quad \lambda_y(\xi) = \frac{(go\tau^{-1})''(\tau(\xi)) - (go\tau^{-1})''(\tau(y))}{2}.$$

Therefore, $\lim_{\xi \rightarrow y} \lambda_y(\xi) = 0$. Applying $\mathcal{S}_{m,\tau}^{*\mu,\lambda}$ to (4.1), we obtain

$$\begin{aligned} (4.3) \quad \left[\mathcal{S}_{m,\tau}^{*\mu,\lambda}(g; y) - g(y) \right] &= (go\tau^{-1})'(\tau(y)) \mathcal{S}_{m,\tau}^{*\mu,\lambda}((\tau(\xi) - \tau(y)); y) \\ &+ \frac{(go\tau^{-1})''(\tau(y)) \mathcal{S}_{m,\tau}^{*\mu,\lambda}((\tau(\xi) - \tau(y))^2; y)}{2} \\ &+ \mathcal{S}_{m,\tau}^{*\mu,\lambda}(\lambda_y(\xi) ((\tau(\xi) - \tau(y))^2; y)). \end{aligned}$$

From Lemma 1.1 and Corollary 1.1, we obtain

$$(4.4) \quad \lim_{m \rightarrow \infty} m \mathcal{S}_{m,\tau}^{*\mu,\lambda} ((\tau(\xi) - \tau(y)); y) \leq \mu,$$

and

$$(4.5) \quad \lim_{m \rightarrow \infty} m \mathcal{S}_{m,\tau}^{*\mu,\lambda} ((\tau(\xi) - \tau(y))^2; y) \leq 2\tau(y)$$

Since from (4.2), for every $\epsilon > 0$, $\lim_{\xi \rightarrow y} \lambda_y(\xi) = 0$. Let $\delta > 0$ such that $|\lambda_y(\xi)| < \epsilon$ for every $\xi \geq 0$. From Cauchy-Schwartz inequality, we get immediately

$$\begin{aligned} \lim_{m \rightarrow \infty} m \mathcal{S}_{m,\tau}^{*\mu,\lambda} (|\lambda_y(\xi)| (\tau(\xi) - \tau(y))^2; y) &\leq \epsilon \lim_{m \rightarrow \infty} m \mathcal{S}_{m,\tau}^{*\mu,\lambda} ((\tau(\xi) - \tau(y))^2; y) \\ &+ \frac{\mathcal{K}}{\delta^2} \lim_{m \rightarrow \infty} \mathcal{S}_{m,\tau}^{*\mu,\lambda} ((\tau(\xi) - \tau(y))^4; y). \end{aligned}$$

Since

$$(4.6) \quad \lim_{m \rightarrow \infty} m \mathcal{S}_{m,\tau}^{*\mu,\lambda} ((\tau(\xi) - \tau(y))^4; y) = 0,$$

we obtain

$$(4.7) \quad \lim_{m \rightarrow \infty} m \mathcal{S}_{m,\tau}^{*\mu,\lambda} (|\lambda_y(\xi)| (\tau(\xi) - \tau(y))^2; y) = 0.$$

Thus, by taking into account the equations (4.4),(4.5) and (4.7) to equation (4.3) the proof is completed. \square

5. LOCAL APPROXIMATION

Let $\mathcal{C}_B[0, \infty)$, be the space of real-valued continuous and bounded functions g with the norm $\|\cdot\|$ is given by

$$\|g\| = \sup_{0 \leq y < \infty} |g(y)|.$$

We begin by considering the \mathcal{K} -functional as:

$$\mathcal{K}_2(g, \delta) = \inf_{s \in W^2} \{\|g - s\| + \delta \|g''\|\},$$

where $\delta > 0$ and $W^2 = \{s \in \mathcal{C}_B[0, \infty) : s', s'' \in \mathcal{C}_B[0, \infty)\}$.

Then, in view of known result [6], there exists an absolute constant $\mathcal{C} > 0$ such that

$$(5.1) \quad \mathcal{K}(g, \delta) \leq \mathcal{C} \omega_2(g, \sqrt{\delta}),$$

where

$$\omega_2(g, \sqrt{\delta}) = \sup_{0 < h \leq \sqrt{\delta}} \sup_{u \in [0, \infty)} |g(y + 2h) - 2g(y + h) + g(y)|$$

is second order modulus of smoothness of $g \in C_B[0, \infty)$.

Also,

$$\omega(g, \delta) = \sup_{0 < h \leq \delta} \sup_{y \in [0, \infty)} |g(y + h) - g(y)|$$

is the usual modulus of continuity of $g \in C_B[0, \infty)$

Theorem 5.1. *There exists an absolute constant $\mathcal{C} > 0$ such that*

$$|\mathcal{S}_{m, \tau}^{*\mu, \lambda}(g; y) - g(y)| \leq \mathcal{C} \mathcal{K}(g, \delta_m(y)),$$

where $g \in C_B[0, \infty)$, $0 \leq \mu \leq \lambda$ and

$$\delta_m(y) = \left\{ \left(\frac{m^2}{(m + \lambda)^2} - \frac{2m}{m + \lambda} + 1 \right) \tau^2(y) + \left(\frac{2\mu m + m}{(m + \lambda)^2} - \frac{2\mu}{m + \lambda} \right) \tau(y) + \frac{\mu^2}{(m + \lambda)^2} \right\}$$

Proof. By using Taylor's formula and for $s \in W^2$ also $y, \xi \in [0, \infty)$. We have

$$(5.2) \quad s(\xi) = s(y) + (s \circ \tau^{-1})'(\tau(y))(\tau(\xi) - \tau(y)) + \int_{\tau(y)}^{\tau(\xi)} (\tau(\xi) - v) (s \circ \tau^{-1})''(v) dv.$$

By using the equality

$$(5.3) \quad (s \circ \tau^{-1})''(\tau(y)) = \frac{s''(y)}{(\tau'(y))^2} - s''(y) \frac{\tau''(y)}{(\tau'(y))^3}.$$

Now, in the last term of equality (5.2) put $v = \tau(y)$, we obtain

$$(5.4) \quad \begin{aligned} \int_{\tau(y)}^{\tau(\xi)} (\tau(\xi) - v) (s \circ \tau^{-1})''(v) dv &= \int_y^\xi (\tau(\xi) - \tau(y)) \left[\frac{s''(y)\tau'(y) - s'(y)\tau''(v)}{(\tau'(y))^2} \right] dy \\ &= \int_{\tau(y)}^{\tau(\xi)} (\tau(\xi) - v) \frac{s''(\tau^{-1}(v))}{(\tau'(\tau^{-1}(v)))^2} dv \\ &\quad - \int_{\tau(y)}^{\tau(\xi)} (\tau(\xi) - v) \frac{s'(\tau^{-1}(v))\tau''(\tau^{-1}(v))}{(\tau'(\tau^{-1}(v)))^3} dv. \end{aligned}$$

By applying $\mathcal{S}_{m,\tau}^{*\mu,\lambda}$ to (5.2) and also by using Lemma 1.1 and (5.4) and we deduce

$$\begin{aligned}\mathcal{S}_{m,\tau}^{*\mu,\lambda}(s; y) &= s(y) + \mathcal{S}_{m,\tau}^{*\mu,\lambda}\left(\int_{\tau(y)}^{\tau(\xi)} (\tau(\xi) - v) \frac{s''(\tau^{-1}(v))}{(\tau'(\tau^{-1}(v)))^2} dv; u\right) \\ &\quad - \mathcal{S}_{m,\tau}^{*\mu,\lambda}\left(\int_{\tau(y)}^{\tau(\xi)} (\tau(\xi) - v) \frac{s'(\tau^{-1}(v))\tau''(\tau^{-1}(v))}{(\tau'(\tau^{-1}(v)))^3} dv; y\right).\end{aligned}$$

By using the conditions (τ_1) and (τ_2) given above we get

$$|\mathcal{S}_{m,\tau}^{*\mu,\lambda}(s; y) - s(y)| \leq \mathcal{M}_{m,2}^\tau(y) (\|s''\| + \|s'\| \|\tau''\|),$$

where

$$\mathcal{M}_{m,2}^\tau(y) = \mathcal{S}_{m,\tau}^{*\mu,\lambda}((\tau(\xi) - \tau(y))^2; y).$$

For $g \in \mathcal{C}_B[0, \infty)$, we have

$$\begin{aligned}|\mathcal{S}_{m,\tau}^{*\mu,\lambda}(s; y)| &\leq \|g \circ \tau^{-1}\| e^{-m\tau(y)} \sum_{j=0}^{\infty} \frac{(m\tau(y))^j}{j!} \\ (5.5) \qquad \qquad &\leq \|g\| \mathcal{S}_{m,\tau}^{*\mu,\lambda}(1; y) = \|g\|.\end{aligned}$$

Hence we have

$$\begin{aligned}|\mathcal{S}_{m,\tau}^{*\mu,\lambda}(g; y) - g(y)| &\leq |\mathcal{S}_{m,\tau}^{*\mu,\lambda}(g - s; y)| + |\mathcal{S}_{m,\tau}^{*\mu,\lambda}(s; y) - s(y)| + |s(y) - g(y)| \\ &\leq 2\|g - s\| + \left\{ \left(\frac{m^2}{(m+\lambda)^2} - \frac{2m}{m+\lambda} + 1 \right) \tau^2(y) \right. \\ &\quad \left. + \left(\frac{2\mu m + m}{(m+\lambda)^2} - \frac{2\mu}{m+\lambda} \right) \tau(y) + \frac{\mu^2}{(m+\lambda)^2} \right\} (\|s''\| + \|s'\| \|\tau''\|),\end{aligned}$$

if we choose $\mathcal{C} = \max\{2, \|\tau''\|\}$, then

$$\begin{aligned}|\mathcal{S}_{m,\tau}^{*\mu,\lambda}(g; y) - g(y)| &\leq \mathcal{C} \left(2\|g - s\| + \left\{ \left(\frac{m^2}{(m+\lambda)^2} - \frac{2m}{m+\lambda} + 1 \right) \tau^2(y) \right. \right. \\ &\quad \left. \left. + \left(\frac{2\mu m + m}{(m+\lambda)^2} - \frac{2\mu}{m+\lambda} \right) \tau(y) + \frac{\mu^2}{(m+\lambda)^2} \right\} \|s''\|_{W^2} \right).\end{aligned}$$

Taking the infimum on right hand side over all $s \in W^2$, we obtain

$$|\mathcal{S}_{m,\tau}^{*\mu,\lambda}(g; y) - g(y)| \leq \mathcal{C}\mathcal{K}(g, \delta_m(y)).$$

□

Let $0 < \alpha \leq 1$, τ be a function with conditions (τ_1) , (τ_2) and $Lip_{\mathcal{M}}(\tau(y); \alpha)$, $\mathcal{M} \geq 0$ satisfying

$$|g(\xi) - g(y)| \leq \mathcal{M} |\tau(\xi) - \tau(y)|^\alpha, y, \xi \geq 0.$$

Moreover, $\mathcal{E} \subset [0, \infty)$ be a bounded subset and the function $g \in Lip_{\mathcal{M}}(\tau(y); \alpha)$, $0 < \alpha \leq 1$ on \mathcal{E} if

$$|g(\xi) - g(y)| \leq \mathcal{M}_{\alpha, g} |\tau(\xi) - \tau(y)|^\alpha, u \in \mathcal{E} \text{ and } \xi \geq 0,$$

where $\mathcal{M}_{\alpha, g}$ is a constant depending on α and g .

Theorem 5.2. *Let $0 < \alpha \leq 1$ and for every $g \in Lip_{\mathcal{M}}(\rho(y); \alpha)$, with $0 \leq \mu \leq \lambda$. Then for every $y \in (0, \infty)$, $m \in \mathbb{N}$, we have*

$$(5.6) \quad |\mathcal{S}_{m, \rho}^{* \mu, \lambda}(g; y) - g(y)| \leq \mathcal{M} (\delta_m(y))^{\frac{\alpha}{2}},$$

where

$$\delta_m(y) = \left\{ \left(\frac{m^2}{(m + \lambda)^2} - \frac{2m}{m + \lambda} + 1 \right) \rho^2(y) + \left(\frac{2\mu m + m}{(m + \lambda)^2} - \frac{2\mu}{m + \lambda} \right) \rho(y) + \frac{\mu^2}{(m + \lambda)^2} \right\}$$

Proof. Assume that $\alpha = 1$. Then, for $g \in Lip_{\mathcal{M}}(\alpha; 1)$ and $y \in (0, \infty)$, we have

$$\begin{aligned} |\mathcal{S}_{m, \rho}^{* \mu, \lambda}(g; y) - g(y)| &\leq \mathcal{S}_{m, \rho}^{* \mu, \lambda}(|g(\xi) - g(y)|; y) \\ &\leq \mathcal{M} \mathcal{S}_{m, \rho}^{* \mu, \lambda}(|\rho(\xi) - \rho(y)|; y). \end{aligned}$$

By Cauchy Schwartz inequality, we obtain

$$\begin{aligned} |\mathcal{S}_{m, \rho}^{* \mu, \lambda}(g; y) - g(y)| &\leq \mathcal{M} [\mathcal{S}_{m, \rho}^{* \mu, \lambda}((\rho(\xi) - \rho(y))^2; y)]^{\frac{1}{2}} \\ &\leq \mathcal{M} \sqrt{\delta_m(y)}. \end{aligned}$$

Let us assume that $\alpha \in (0, 1)$. Then, for $g \in Lip_{\mathcal{M}}(\alpha; 1)$ and $y \in (0, \infty)$, we have

$$\begin{aligned} |\mathcal{S}_{m, \rho}^{* \mu, \lambda}(g; y) - g(y)| &\leq \mathcal{S}_{m, \rho}^{* \mu, \lambda}(|g(\xi) - g(y)|; y) \\ &\leq \mathcal{M} \mathcal{S}_{m, \rho}^{* \mu, \lambda}(|\rho(\xi) - \rho(y)|^\alpha; y). \end{aligned}$$

For $g \in Lip_{\mathcal{M}}(\rho(y); \alpha)$ and by Hölder's inequality with $p = \frac{1}{\alpha}$ and $q = \frac{1}{1-\alpha}$, we have

$$|\mathcal{S}_{m, \rho}^{* \mu, \lambda}(g; y) - g(y)| \leq \mathcal{M} [\mathcal{S}_{m, \rho}^{* \mu, \lambda}(|\rho(\xi) - \rho(y)|; y)]^\alpha.$$

Finally from Cauchy-Schwartz inequality, we get

$$|\mathcal{S}_{m,\rho}^{*\mu,\lambda}(g; y) - g(y)| \leq \mathcal{M}(\delta_m(y))^{\frac{\alpha}{2}}.$$

□

Theorem 5.3. *Let \mathcal{E} be a bounded subset of $[0, \infty)$ and τ be a function satisfying the conditions (τ_1) , (τ_2) . Then for any $g \in Lip_{\mathcal{M}}(\tau(y); \alpha)$, $0 < \alpha \leq 1$ on \mathcal{E} $\alpha \in (0, 1]$, we have*

$$|\mathcal{S}_{m,\tau}^{*\mu,\lambda}(g; y) - g(y)| \leq \mathcal{M}_{\alpha,g} \left\{ (\delta_m(y))^{\frac{\alpha}{2}} + 2[\tau'(y)]^\alpha d^\alpha(y, \mathcal{E}) \right\}, y \in [0, \infty), m \in \mathbb{N},$$

where $d(y, \mathcal{E}) = \inf\{\|y - x\| : x \in \mathcal{E}\}$ and $\mathcal{M}_{\alpha,g}$ is a constant depending on α and g .

where

$$\delta_m(y) = \left\{ \left(\frac{m^2}{(m+\lambda)^2} - \frac{2m}{m+\lambda} + 1 \right) \tau^2(y) + \left(\frac{2\mu m + m}{(m+\lambda)^2} - \frac{2\mu}{m+\lambda} \right) \tau(y) + \frac{\mu^2}{(m+\lambda)^2} \right\}.$$

Proof. Let \mathcal{E} be a bounded subset of $[0, \infty)$ and $\bar{\mathcal{E}}$ be its closure. Then, there exists a point $y_0 \in \bar{\mathcal{E}}$ such that $d(y, \mathcal{E}) = |y - y_0|$.

Using the monotonicity of $\mathcal{S}_{m,\tau}^{*\mu,\lambda}$ and the hypothesis of g , we obtain

$$\begin{aligned} |\mathcal{S}_{m,\tau}^{*\mu,\lambda}(g; y) - g(y)| &\leq \mathcal{S}_{m,\tau}^{*\mu,\lambda}(|g(\xi) - g(y_0)|; y) + \mathcal{S}_{m,\tau}^{*\mu,\lambda}(|g(y) - g(y_0)|; y) \\ &\leq \mathcal{M}_{\alpha,g} \left\{ \mathcal{S}_{m,\tau}^{*\mu,\lambda}(|\tau(\xi) - \tau(y_0)|^\alpha; y) + |\tau(y) - \tau(y_0)|^\alpha \right\} \\ &\leq \mathcal{M}_{\alpha,g} \left\{ \mathcal{S}_{m,\tau}^{*\mu,\lambda}(|\tau(\xi) - \tau(y)|^\alpha; y) + 2|\tau(y) - \tau(y_0)|^\alpha \right\}. \end{aligned}$$

Let $p = \frac{2}{\alpha}$ and $q = \frac{2}{2-\alpha}$ and by using the fact $|\tau(y) - \tau(y_0)| = \tau'(y)|\tau(y) - \tau(y_0)|$ in the last inequality along with Hölder's inequality we immediately have

$$|\mathcal{S}_{m,\tau}^{*\mu,\lambda}(g; y) - g(y)| \leq \mathcal{M}_{\alpha,g} \left\{ [\mathcal{S}_{m,\tau}^{*\mu,\lambda}((\tau(\xi) - \tau(y))^2; y)]^{\frac{1}{2}} + 2[\tau'(y)|\tau(y) - \tau(y_0)|]^\alpha \right\}.$$

Hence, by Corollary 1.1 we get the proof. □

Now, we recall local approximation in terms of α order generalized Lipschitz-type maximal function given by Lenze [11] for $g \in \mathcal{C}_B[0, \infty)$ as

$$(5.7) \quad \tilde{\omega}_\alpha^\tau(g; y) = \sup_{\xi \neq y, \xi \in (0, \infty)} \frac{|g(\xi) - g(y)|}{|\xi - y|^\alpha}, y \in [0, \infty) \text{ and } \alpha \in (0, 1].$$

Then we get the next result

Theorem 5.4. *Let $g \in \mathcal{C}_B[0, \infty)$ and $\alpha \in (0, 1]$ with $0 \leq \mu \leq \lambda$. Then, for all $y \in [0, \infty)$, we have*

$$|\mathcal{S}_{m,\tau}^{*\mu,\lambda}(g; y) - g(y)| \leq \tilde{\omega}_\alpha^\tau(g; y) (\delta_m(y))^{\frac{\alpha}{2}}.$$

where

$$\delta_m(y) = \left\{ \left(\frac{m^2}{(m+\lambda)^2} - \frac{2m}{m+\lambda} + 1 \right) \tau^2(y) + \left(\frac{2\mu m + m}{(m+\lambda)^2} - \frac{2\mu}{m+\lambda} \right) \tau(y) + \frac{\mu^2}{(m+\lambda)^2} \right\}.$$

Proof. We know that

$$|\mathcal{S}_{m,\tau}^{*\mu,\lambda}(g; y) - g(y)| \leq \mathcal{S}_{m,\tau}^{*\mu,\lambda}(|g(t) - g(y)|; y).$$

From equation (5.7), we have

$$|\mathcal{S}_{m,\tau}^{*\mu,\lambda}(g; y) - g(y)| \leq \tilde{\omega}_\alpha^\tau(g; y) \mathcal{S}_{m,\tau}^{*\mu,\lambda}(|\tau(\xi) - \tau(y)|^\alpha; y).$$

From Hölder's inequality with $p = \frac{2}{\alpha}$ and $q = \frac{2}{2-\alpha}$, we have

$$\begin{aligned} |\mathcal{S}_{m,\tau}^{*\mu,\lambda}(g; y) - g(y)| &\leq \tilde{\omega}_\alpha^\tau(g; y) [\mathcal{S}_{m,\tau}^{*\mu,\lambda}((\tau(\xi) - \tau(y))^2; y)]^{\frac{\alpha}{2}} \\ &\leq \tilde{\omega}_\alpha^\tau(g; y) (\delta_m(y))^{\frac{\alpha}{2}}. \end{aligned}$$

which proves the desired result □

Acknowledgement

The first author (Mohd Qasim) is grateful to Council of Scientific and Industrial Research (CSIR), India, for providing the Senior Research Fellowship under the grant (09/1172(0001)/2017-EMR-I).

REFERENCES

- [1] O. Agratini, On the rate of convergence of a positive approximation process. *Nihonkai Math. J.*, **11**(2000), 47-56.
- [2] A. Aral, D. Inoan, I. Rasa, On the generalized Szász-Mirakyan operators. *Results Math.*, **65** (2014) 441-452.
- [3] T. Acar, S.A. Mohiudine, M. Mursaleen, Approximation by (p, q) -Baskakov Durrmeyer Stancu operators, *Complex Anal. Oper. Theory.*, **12**(6), (2018) 1453–1468.

- [4] S.N. Bernstein, Démonstration du théorème de Weierstrass fondée sur le calcul de probabilités, *Commun. Soc. Math. Kharkow*, **13**(1912-1913) 1-2.
- [5] D. Cárdenas-Morales, P. Garrancho, I. Rasa, Bernstein-type operators which preserve polynomials. *Comput. Math. Appl.*, **62**(1) (2011) 158-163.
- [6] R. A. DeVore, G. G. Lorentz, Constructive Approximation, Grundlehren Math. Wiss. [Fundamental principles of Mathematical Sciences], Springer-Verlag, Berlin, (1993).
- [7] A.D. Gadzhiev, A problem on the convergence of a sequence of positive linear operators on unbounded sets, and theorems that are analogous to P. P. Korovkin's theorem. *Dokl. Akad. Nauk SSSR*, **218** (1974) (Russian),1001-1004.
- [8] A.D. Gadzhiev, A. Aral, The estimates of approximation by using a new type of weighted modulus of continuity. *Comp. Math. Appl.*, **54** (2007), 127–135.
- [9] A. Holhoş, Quantitative estimates for positive linear operators in weighted spaces. *General Math.*, **16**(4) (2008) 99-110.
- [10] A. Kilicman, M. Ayman Mursaleen, A.H.H. Al-Abied, Stancu type Baskakov-Durrmeyer operators and approximation properties, *Mathematics*, **8** (2020), Article No. 1164, doi:10.3390/math8071164.
- [11] B. Lenze, On Lipschitz type maximal functions and their smoothness spaces, *Nederl Akad Indag Math.*, **50** (1988), 53–63.
- [12] V.N. Mishra, S. Pandey, On Chlodowsky variant of (p, q) Kantorovich-Stancu-Schurer operators, *Int. J. of Anal. Appl.*, **11**(1) (2016), 28–39.
- [13] S. A. Mohiuddine, T. Acar, A. Alotaibi, Construction of a new family of Bernstein-Kantorovich operators, *Math. Meth. Appl. Sci.* **40** (2017) 7749-7759.
- [14] S. A. Mohiuddine, F. Özger, Approximation of functions by Stancu variant of Bernstein-Kantorovich operators based on shape parameter α , *Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Math.* RACSAM (2020) 114:70.
- [15] S. A. Mohiuddine, N. Ahmad, F. Özger, A. Alotaibi, B. Hazarika, Approximation by the parametric generalization of Baskakov-Kantorovich operators linking with Stancu operators, *Iran. J. Sci. Technol. Trans. A Sci.*, <https://doi.org/10.1007/s40995-020-01024-w>.
- [16] M. Mursaleen, M. Ahasan, The Dunkl generalization of Stancu type q -Szász-Mirakjan-Kantorovich operators and some approximation results, *Carpathian J. Math.*, **34**(3) (2018) 363-370.
- [17] M. Mursaleen, and T. Khan, On approximation by Stancu type Jakimovski-Leviatan-Durrmeyer operators, *Azerbaijan Jour. Math.*, **7**(1) (2017) 16–26.
- [18] F. Özger, H. M. Srivastava, S. A. Mohiuddine, Approximation of functions by a new class of generalized Bernstein-Schurer operators, *Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Math.* RACSAM (2020) 114:173..

- [19] N. Rao and A. Wafi. Bivariate-Schurer-Stancu operators based on (p, q) -integers, *Filomat* **32**(4) (2018), 1251–1258.
- [20] D.D. Stancu, Approximation of functions by a new class of linear polynomial operators, *Rev. Roumaine Math. Pure Appl.*, **13**, (1968) 1173-1194.
- [21] O. Szász, Generalization of S. Bernstein's polynomials to the infinite interval. *J. Res. Nat. Bur. Standards* **45**(1950) 239-245.
- [22] K. Weierstrass, Über die analytische Darstellbarkeit sogenannter willkürlicher Functionen einer reellen Veränderlichen, *Sitzungsber. Akad. Berlin*, **2**(1885) 633-639.

(1,4) DEPARTMENT OF MATHEMATICAL SCIENCES , BABA GHULAM SHAH BADSHAH UNIVERSITY,
RAJOURI-185234, JAMMU AND KASHMIR, INDIA

Email address, (1): bgsbuqasim@gmail.com

Email address, (4): zam@bgsbu.ac.in

(2) DEPARTMENT OF MEDICAL RESEARCH, CHINA MEDICAL UNIVERSITY HOSPITAL, CHINA
MEDICAL UNIVERSITY (TAIWAN), TAICHUNG, TAIWAN

(2,3) DEPARTMENT OF MATHEMATICS, ALIGARH MUSLIM UNIVERSITY, ALIGARH-202002, INDIA

Email address, (2): (Corrospoding author)mursaleenm@gmail.com

Email address, (3): asifjnu07@gmail.com